











0.7320508076, 0.7320508076, 0.7320508076, 0.7320508076, 0.7320508076, 0.7320508076,  
0.7320508076, 0.7320508076, 0.7320508076, 0.7320508076, 0.7320508076]

$$\begin{aligned} > \text{SFP}\left(\frac{x+2}{x+3}, x\right) \\ & \qquad \qquad \qquad [0.732050808] \end{aligned} \tag{23}$$

$$\begin{aligned} > \text{FP}\left(\frac{x+2}{x+3}, x\right) \\ & \qquad \qquad \qquad [-2.732050808, 0.732050808] \end{aligned} \tag{24}$$

$$\begin{aligned} > \text{DF}(2, 3, 0.732050808) \\ & \qquad \qquad \qquad 0.0717967697 \end{aligned} \tag{25}$$

$$\begin{aligned} > \text{SFP}\left(\frac{x+12}{x+17}, x\right) \\ & \qquad \qquad \qquad [0.717797888] \end{aligned} \tag{26}$$

$$\begin{aligned} > \text{FP}\left(\frac{x+12}{x+17}, x\right) \\ & \qquad \qquad \qquad [-16.71779789, 0.717797888] \end{aligned} \tag{27}$$

$$\begin{aligned} > \text{DF}(12, 17, 0.717797888) \\ & \qquad \qquad \qquad 0.01592760650 \end{aligned} \tag{28}$$

$$\begin{aligned} > \#3. \\ & \#For k=2 \\ & f2(x) := 2 \cdot x \cdot (1 - x); \\ & \qquad \qquad \qquad f2 := x \mapsto 2 \cdot x \cdot (1 - x) \end{aligned} \tag{29}$$

$$\begin{aligned} > \text{FP}(f2(x), x) \\ & \qquad \qquad \qquad [0., 0.5000000000] \end{aligned} \tag{30}$$

$$\begin{aligned} > f2(0.0001) \\ & \qquad \qquad \qquad 0.00019998 \end{aligned} \tag{31}$$

$$\begin{aligned} > f2(-0.0001) \\ & \qquad \qquad \qquad -0.00020002 \end{aligned} \tag{32}$$

$$\begin{aligned} > f2(0.25) \\ & \qquad \qquad \qquad 0.3750 \end{aligned} \tag{33}$$

> #We can see that x=0 is not a stable fixed point because the system is moving away from the point.

$$\begin{aligned} > f1(x) := x \cdot (1 - x) \\ & \qquad \qquad \qquad f1 := x \mapsto x \cdot (1 - x) \end{aligned} \tag{34}$$

$$\begin{aligned} > \text{SFP}(f1(x), x) \\ & \qquad \qquad \qquad [ ] \end{aligned} \tag{35}$$

$$\begin{aligned} > f3 := 3 \cdot x \cdot (1 - x) \\ & \qquad \qquad \qquad f3 := 3 x (1 - x) \end{aligned} \tag{36}$$

>  $\text{SFP}(f3(x), x)$   
Error, (in SFP) cannot determine if this expression is true or false:  
 $3 \cdot \text{abs}(-(\text{diff}(\text{pt}(\text{pt}), \text{pt})) \cdot (1 - \text{pt}(\text{pt})) + \text{pt}(\text{pt}) \cdot (\text{diff}(\text{pt}(\text{pt}), \text{pt}))) < 1$

|/Users/shreyaghosh/Documents/M9.txt:55|

>  $f4 := 4 \cdot x \cdot (1 - x)$   
 $f4 := 4x(1 - x)$  (37)

>  $SFP(f4(x), x)$   
Error, (in SFP) cannot determine if this expression is true or false:  
 $4 \cdot \text{abs}(-(\text{diff}(pt(pt), pt)) \cdot (1 - pt(pt)) + pt(pt) \cdot (\text{diff}(pt(pt), pt))) < 1$   
|/Users/shreyaghosh/Documents/M9.txt:55|

> #k=2 is the bifurcation value, with the fixed point being 0.5

> #4.  
 $g(x) := k \cdot x \cdot (1 - x)$   
 $g := x \mapsto k \cdot x \cdot (1 - x)$  (38)

>  $gg := g(g(x))$   
 $gg := k^2 x (1 - x) (1 - kx(1 - x))$  (39)

>  $FP(gg, x)$   
 $\left\{ \left\{ k = k, x = 0. \right\}, \left\{ k = k, x = \frac{k - 1.}{k} \right\}, \left\{ k = k, x = \frac{0.5000000000 k + 0.5000000000 + 0.5000000000 \sqrt{k^2 - 2. k - 3.}}{k} \right\}, \left\{ k = k, x = \frac{0.5000000000 k + 0.5000000000 - 0.5000000000 \sqrt{k^2 - 2. k - 3.}}{k} \right\} \right\}$  (40)

>  $dgg := \text{diff}(gg, x)$   
 $dgg := k^2 (1 - x) (1 - kx(1 - x)) - k^2 x (1 - kx(1 - x)) + k^2 x (1 - x) (-k(1 - x) + kx)$  (41)

>  $\text{solve}(\text{abs}(dgg) \leq 1)$   
Warning, solutions may have been lost

$$\left\{ k = 0, x < \frac{1}{2} \right\}, \left\{ k = k, x = \frac{1}{2} \right\}, \left\{ x = \text{RootOf}(27 \_Z^4 - 54 \_Z^3 + 27 \_Z^2 - 2 \_Z + 1, \text{index} = 1), k \leq -27 \text{RootOf}(27 \_Z^4 - 54 \_Z^3 + 27 \_Z^2 - 2 \_Z + 1, \text{index} = 1)^3 + \frac{81 \text{RootOf}(27 \_Z^4 - 54 \_Z^3 + 27 \_Z^2 - 2 \_Z + 1, \text{index} = 1)^2}{2} - \frac{27 \text{RootOf}(27 \_Z^4 - 54 \_Z^3 + 27 \_Z^2 - 2 \_Z + 1, \text{index} = 1)}{2} + 2, \frac{1}{26244} \left( -12 \text{RootOf}(27 \_Z^4 - 54 \_Z^3 + 27 \_Z^2 - 2 \_Z + 1, \text{index} = 1)^2 + (648 \text{RootOf}(27 \_Z^4 - 54 \_Z^3 + 27 \_Z^2 - 2 \_Z + 1, \text{index} = 1)^2 - 552 \text{RootOf}(27 \_Z^4 - 54 \_Z^3 + 27 \_Z^2 - 2 \_Z + 1, \text{index} = 1) \right) \right\}$$

$$\begin{aligned}
& + 33)^{1/2} + 12 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 1) - 3) \\
& (53190 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 1)^3 \\
& - 68121 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 1)^2 \\
& + 11475 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 1) - 5128)) \leq k\}, \{x \\
& = 1, -1 \leq k, k \leq 1\}, \left\{ x = \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 2), k \right. \\
& \leq \frac{1}{26244} \left( (-12 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 2))^2 \right. \\
& + (648 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 2))^2 - 552 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27 \\
& + 33)^{1/2} + 12 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 2) - 3) \\
& (53190 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 2)^3 \\
& - 68121 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 2))^2 \\
& + 11475 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 2) - 5128)), \\
& -27 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 2)^3 \\
& + \frac{81 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 2)^2}{2} \\
& \left. - \frac{27 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 - 2\_Z + 1, \text{index} = 2)}{2} + 2 \leq k\right\}, \left\{ k < 0, x \right. \\
& < \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 3), -\frac{1}{2(x-1)x} < k\}, \left\{ x \right. \\
& = \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 3), k < 0, \\
& 27 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 3)^3 \\
& \left. - \frac{81 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 3)^2}{2} \right.
\end{aligned}$$



$$\begin{aligned}
& + \frac{27 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 3)}{2} + 2 < k \}, \left\{ x \right. \\
& = \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 3), k \leq -\frac{1}{26244} \left( \left( \right. \right. \\
& -12 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 3)^2 \\
& + \left( 648 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 3) \right)^2 - 744 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27 \\
& + 129) \left. \right)^{1/2} + 12 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 3) - 3 \left. \right) \\
& \left( 53190 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 3) \right)^3 \\
& - 91449 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 3)^2 \\
& + 34803 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 3) + 8584 \left. \right), 0 < k \}, \{ x \\
& = 0, -1 \leq k, k < 0 \}, \{ x = 0, k \leq 1, 0 < k \}, \left\{ x = \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 \right. \\
& + 2\_Z - 1, \text{index} = 1), \frac{1}{26244} \left( \left( 12 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z \right. \right. \\
& - 1, \text{index} = 1) \right)^2 - 12 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 1) \\
& - \left( 648 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 1) \right)^2 - 744 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27 \\
& + 129) \left. \right)^{1/2} + 3 \left. \right) \left( 53190 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 1) \right)^3 \\
& - 91449 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 1)^2 \\
& + 34803 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 1) + 8584 \left. \right) \leq k, k \\
& < 0 \}, \left\{ x = \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 1), 0 < k, k \right. \\
& < 27 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 1) \left. \right)^3 \\
& - \frac{81 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 1)^2}{2} \\
& + \frac{27 \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 1)}{2} + 2 \left. \right\}, \left\{ 0 < k, k < \right. \\
& \left. -\frac{1}{2(x-1)x}, x < \frac{1}{2}, \operatorname{RootOf}(27\_Z^4 - 54\_Z^3 + 27\_Z^2 + 2\_Z - 1, \text{index} = 1) < x \right\}
\end{aligned}$$

> #I'm sorry Dr. Zeilberger. I'm not sure how to solve this problem